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13 Loddmergmo bEGodmbo, Loddmemo gsdmbsbsbols
534935390
3Bgbsgsemo

09939 MATLAB -0l doMomso  ©sbadbymgds  Gozbgomo  asdmmgemadas,  bemaxg®
bogo®ms  Bgdldg®o  3sbadnmszogda.  dsgamomse  adegogne  asdmbsbamadstyg  Lamsmdols
39390988, 36 @g™dgdol  Labgmagdols @sfgMs.  sdolsmgols MATLAB -t a33hbos LMo gmbo,
Am3gemog Sbmoo  gsdmbsbrmgdsls dgo3e3L, 367 Loddmerg@o bGodmbo .

13.1 bBeogmbol 3mbldemios

MATLAB 15086(*)@'3(4)0 bgeogmbo ASCII Bogogaabob aﬁ)mmbwom&aa. 353 5m0ms(:

>>text = “This 1s a character string’

text =

This 1s a character string

>>size(text)

Ans =

26

>> whos

Name Size Bytes Class

ans 1x2 16 double array
text 1x26 52 char array

Grand total i1s 28 elements using 68 bytes

ASCII M0

b3 Gogmbol gmggemo Loddmeme [s63mswgnbl gom gemgdgb@Bl dskog8o, Gmdgmoai begommgdl 2
330y 3qblog®gdsl. (Gobzomo aedmlsbamgds dmombemgl 8 dso@l.) ASCIl jmeo ‘A’- Z°
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Loddmmmosmgzgol 360l gemdsbgmol dmdeg3bm dmgemo Goibzgdo 65-s6 90-3wg, bemee ‘@’ —
‘27 97-006 122-309. MATLAB og96300 @abs g3sdemg3ls ASCI 3ol bgeogmbolsmgols.

>> text = “This is a character string’
text =

This is a character string

>> d = abs(text)

d =

Columns 1 through 12

84 104 105 115 32 105 115 32 97 32 99 104
Columns 13 through 24

97 114 97 99 16 101 114 32 115 116 114 105
Columns 25 through 26

110 103

39608 char LA mmadl  F9dermbgd e gedesddbsls, ASCII dmeol  dobgrgom  smewyqbls
bB®ojmbl:

>> char(d)
ans =
This iIs a character string

bB®odmbls s ASCII 30l dm@ol 83 ©sdm3oegdamagdols Lsggndggm by dogomgdm:

>> alpha = abs("a"):abs("z")
>> disp(char(alpha))
abcdefghi jkImnopgrstuvwxyz

b3 oodmbo  o0gogg  dsbogos, dsgMsd  Loddmemmms  dsbogo, sdoBmd  dsbbgg  Igbademgdgemas
dsLbogmeo ™3gMsz0gd0ls Fedmgds:

>> text = “This is a character string’;
>> u = text(11:19)

u =

character

olggg  Omames  IBOoss, bEoodmbo  dsbogoiy  dgodmgds  Fgozegegl  IGsgsee  LBGodmbls,
35333 gmzggmo b®odmbo Lggd 90l 0msbsdse MsmEgbmdsls mbos Fgo3e3gl. dsgsemomasw:

v = ["Character strings having more than®

"one row must have the same number -~

"of columns - just like matrices "1
dogoegdm:

V:
Character strings having more than
one row must have the same number

of columns - just like matrices

>> size(v)
ans =
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3 34

Aogsb  bgomodmbo ogogg dsbogos, Fgazodmos mem  Lg@ogmbo  as350m05b6m0  3330MSB o

0363130;:)36015 Bo'a*g]agmaéom:

>> today
>> today
today =
May 18

"May* ;

[today, ™ 18]

asbgoboemmm MATLAB-ol 6096039 396308 LEGombolsmgols:

char(x)

int2str(x)

numa2str(x)

str2num(s)

dsgamomgdo:

>> x=abs("string”)
X =

115 116 114
>> char(x)

ans =
string

X dsbogl, Gmdmol gmgdgbdgdai dmgmo wsegdomo Go3b3zgd0s
s [om3meeagbl  sbmomo  Loddmmrml  jeegdl  gstesddbols
3bemom Loddmermms dsbogse.

X dsBeoiol  gemgdgbBgdl  sesddgzsmmgdls  dogmedreg s
dgegase domgdne dsbogl ascesgdbol LB@odmb ds@@o(ee

X Goibgomn dsBeoisl 3ecesgdbols LB@odmbse. gl d61dsbgds
Lobatggdemems 26353039 3mbadzbgdols 2L 3900
(F)mamﬁ)@ title, xlabel, ylabel, text 36dsbgdsms ‘566‘3836(@0)

S Lgeodmbl, Omdgmoi  Fgoegb  Goibzom  Loworgms
253 bsbyemadsls ASCII BmAdsdo,  3eGEsddbols  dglisdsdals
®o3bgom  360dzbgmmdse. bgGmodmbo S dgodmgds  Fgo(zezegls
Gogel, sofomsenm  3dodgl, + o6 — 60dsbl, ‘€ @s ‘o’
boddmemgdls — dsbBobols s gl3embgBsl  gedygmaal Lsboo
Q5 i — 30339l Gozbzgdobsmgols.

105 110 103

num2str bsoembdsome gsbgobogmme dgdegao 65}606863602

AM3MO3 30300, (33l - pi MATLAB s00J399L Gmam T 360336gemmdsls — 3.1416

>> ss=num2str(pi)
Ss =
3.1416

S 33 F99mb3z93080 360l 8B b O Mo Goibgo 3.1416, s6sdge Loddmmemms dsbogo (Char
array), émdeol gemadgbdndoz ASCI jowgdl Fo®dmsmagbl. dstrongmsy:

>> size(ss)

ans =
1

6
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>> abs(ss)
ans =

51 46 49 52 49 54

sbes 943dmgoggbmm 86dsbgds , GmIgmoi bBModmbls SS gadesddbols Goibgzom bowowgo:

pp=str2num(ss)

pPp =
3.1416

PP 9330 463098 gm0 Goisbzos (double array)— 3.1416.

size(pp)
ans =

1

asbgoboemmm goegy gmo dsgsemomo:

MATLAB 39093 6(4)6063636152

2.2774;
144 .6364;

tg
Xg

disp(["time of flight: * num2str(tg) " s"])
disp(["distance traveled : " num2str(xg) ° ft*])

9099500 3m38336¢:

>> time of flight: 2.2774 s

distance traveled

: 144.6364 Tt

disp  36ds6g30l 306390 sGamBgbEHo  B3gmeegddogo  Loddmeando  LgGodmbos, dgmeg  —
3dsbgdss,  MmIgmoi  Moibzom  asdmbsbyemgdsl  Loddmm@d  bEGombse  gedesddbols, s

dgbedg — obgg Rzgmemgd®ogo Loddmeondo bgeogmbo.

MATLAB 3960900 Loddeemms bgeogmbolsmgols:

blanks(n)
deblank(s)
eval(s)

eval(sl,s2)

findstr(s1,s2)
ischar(s)

3399ma3l Lgeodmbl , @mdgmoi N Loddmmel bszgmse N
(3909 3mbBo308l dgo(3e3L.

oy beogmbo dremmazgds 33639965000 (336090
3Bogoom, gl 36dsbgds 93393k sl 3oMzgemogyg Loddmenmdey
2993398 S LB Modmbls Gmame MATLAB  3s3mbsbgemgdsls
b 3 dsbgdasls.

Lodnemgdsls  odemgas  Igemds  godmgmo.  godzgel Sl
dglsdedols  3dsbgdsls s a38dmg3l  Bgraqgl, oy 6Adsbgds
FodsBgdom  Fglermemes, bomme oy 36dsbgdols  Igbermmgds
93003515 0dgmggs, 0390l S2 — dgLsdsdols 66dsbgdsls.
3ernememdls 900 bgGodmbl dgmeols dogboom

2359931 1, o) S Loddmmrg@o dsbogos, Lbgs dgdmbgggzsdo -0
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isletter(s) a33dmasl 1l s Lgemodmbol  gmggemo  gegdgbdolsmgol,
O0dgemoz sbmon  gedmlsbamgdsl  Fomdmsegbl s 0 Lbgs
d9dmb3935do.

isspace(s) 2359ma3l 1-L S B0 gmbols 03 gmgdgb@gdolsmgols, Gmdemadocs

(o63cms396L  (35609m  3mboczasl(space, tabs, newlines,carriage
returns), 0 — Lbgs 3gdmnbgg3580

132 ©é6m ©s ;mstowo

9339 393935000 MATLAB 36dsbgdsls date, GmIgemoz 339993l mstoml, clock — 235demg3ls
Omob 360’3353@(\060%. 536 ggo%’z;éog*\wabomo 0bggm®ds300ls aoBoQa&m\J 83 Lsgombmsb
83838069800  dgandmosem  obsdggdmmo MATLAB-ol help 3dsbgdom. as839(36m0 BemgogOm
ds:336L.

>>[d,s]=weekday("9/15/2006")
235dm93l 3306001 G ©EEgs Jomomgdgmo MmsGowo:

d =6
s = Fri

>> calendar("9/15/2006")
Gedmo a39dmgal:

Sep 2006
S M Tu W Th F S
0 0 0 0 0 1 2
3 4 5 6 7 8 9

10 11 12 13 14 15 16
17 18 19 20 21 22 23
24 25 26 27 28 29 30
0 0 0 0 0 0 0

36rdsbgds tic hsrmsgl  Bsodg@ls 'bm-c\nm toc, gsdmemsgl Aol s dmgg39dl EOML, G™Igmocg
2930008 BsodgMol  Rstimgol, sbg tIC 36dsbgdol Fgdrgy. gl d6dsbgds  Labstggdemms, Gem(ss
a3bneOl  sgomzsmmm M3 EOML  sbrmdgdl  gmddomdgmo Bzgbl dogH @sffaomo  3GmaMsdols
3350908 m3gMs300ls Iglermemgdsls.

13.3 b0 396©sJdbgd0 s dody ™m3gMs30g0

MATLAB 3J3b aahodg:)a&@mbo 25003094336 s (4)0(31533250 mém&omogos 300300 o ©s b
Gmdgemodg bbgs dsbn® LobBgdsdo Loddmmgdo L®odmbols gge@ddoo.

dec2bin(d) 3399m93l d —b Om3on FotBdmeagbsl Gmame; btodmbl. d
by ogml sGmsMymxomo dmngmo Goigbgo <252,
bin2dec(b) sbgbl b eOmdomo  LEMogmbol  0bEgm3egEomgdsl s

63‘)6Q’SBB '3315.)603015 S0, G03bgL

353 50mac:



6 boddmeon®o bg@ogmbo, Loddmerg@o gsdmbsbsbols sdndsggds 13

>> d=32;
>> dec2bin(d)

ans =

100000;

>> bin2dec("100000")
ans =

32

MATLAB —t a03hbos 31630900 ma0gnG0 ™3gMs(30900l gsblsbmM(309madmse  Moi3bdgdals
39Lsdsdol mOmdom bg®odmbgdls dmeol. (a, b, c dogemo, sGSmsGYgngomo Goibzgdos).

c=bitand(a,b) dogymeo and o6 s639396¢ L deacrols
c=bitor(a,b) doBye0 OF A s b séam3968L Jmeol
c=bitcmp(a,N) a somdomo dogmo Gozbzol N d0B0sb memdom

(o63meaqbsdo dg33emols 0 l-oom, berygoe 1 0-00 s dmag39dl
d9bs6330ls somdon GMo(3bzl
c=bitshift(a,N) dm33(399L dngem somodon oibzgl, Gmdgmog FoMdmsea bl a
03630 mOM30m0 [sedmeaqbol N dogoo §sbs33egdals
9093, 0 N >0, 9L 3968308 06033‘)’ O 3991330 2
oy N < 0, - 030399, G183 3oYMgS 2N -%9
3333005

>> pitand(13,27) 367dsbgds dma3(390L:
ans = 9

sz Mo;3bzo 13 mGmdomo Fotdmeagbs 5 3ognsb Lob@gdsdo skgmos :
>> dec2bin(13,5)
ans =01101
bogwen - 27-0ls:
>> dec2bin(27,5)
ans =11011
07 99390360900  gOmdsbgol w6 memdoo  Goibgl: 01101 s 11011 and dgsmgdols
396 mc00, dogomgdo 01001, Gsbsz Fgglisdsdgds somdomo Goigbzo 9. dsGrongms:

>> bin2dec("01001")
ans = 9

sbgms 365bmm DItCMP gg6;300L 3mJdgqdol Jgegao:

>>bitcmp(9,5) brZanebis Sedegad miviRebT:
ans = 22
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g6 somdomo Goibzol 9 mBmdoco [otdmwagbs S5 doBosh Lolggdsdo = 01001, bitcmp
376dgos Fgi3mol 0 l-om, beoyer 1- 0-00 @s doomgds 10110, Gsbsy Bggbsdsdgds sommdomo
®oibzo 22.

393990 deron:

>> dec2bin(9,5)
ans = 01001

>>dec2bin(22,5)
ans =10110

>>bitShift(9,2)
ans = 36

O3 9 somdomo  Gogbzol mOmdomo  Fe@dmeagbss 1001, bitshift 361dsbgds  adsdnols
Bl ™6 byl dsrxgbog s doowgds mG™mdomo  Goizbzo 100100, 6o I99Lsdedgds  smmdom
®o3b3b 36, gl ™39Gs300 030399, B3 9 3938383 M™ 22 (9%2 2=36).

13.4 boddme@o 0bgm®ds;zool ©sdndsggds

sf8g B396 MATLAB —L gsb30bomsgmon Geameyg bedmemagdsl Gobzomo  gsdmmgemadols
boGemdmgdmas. slggg dmasfoegn  g3sc33979mo  0bgm®dszos  BgJlBol  dsbodmmomgdolsmgols.
MATLAB —ob Ls87semgdoo Bqlsdmgdgemos 35§303mmn 3mddgegdgdo Rzgmmgdeong semagderaem
233 babyemadgdby.

9500 ©360mg30m0 0683m33(300bs0m30L 330590 ddsbgdsms by sms8o  help symbolic.
sbaggg  9gladegdgemos o3 -bodombmoﬁ 8333906900 LaEgdmbl@dsigom  dsbsgmols
EIM30gfgds ddsbgdom Symintro.

boddmerndo asdmbsbymgds ©s semggdes

oy agbymel MATLAB-o0l Lo dgsemgdoo  Loddmmrg@o  0bge@ds(z00l  ©sdndsggds,  3oMggm
0380  gbs  as6335OBMn  (3odmzsboemm)  Lsgode  dmodoggdo ©s  (33es@gdo  Bmam(;
boddmern®o mdogddgdo. dsgsemomasw:

>>Syms X Yy

boddmeon@o  d9edoggdol  gedmbsbaegdmse  asdmoaggbgds  gmbjzos SYmM. dolo  ségmdgbdos
boddmmgdo  bgModmbo,  Omdgmai  dgoiegl  Ldgigosemn®o  33mseols  Lebgeml,  Goibgom
333 bsbyemadsl o6 g3gb 300l esbsbgemgdsls.

>> pi = sym("pi”);
>> delta = sym("1/10%);
>>sqrt2 = sym("sqrt(2) *);

0 Loddmeom®o dnwdogo PI sby gs63LobmaGgm, 030 dm3gdne bsdndsem Loghgdo g;3zemols
pi —b Gopbgoon 3603369mmdsl. Loddmmamo  dogddgdol  Bodo  asbolabmatgds  Gmames
symbolic objects.
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oy b9dmbligbgdnmo 361dsbgdgdol dgdrgy dog(3900 ddsbgdsls whos, dogoegdm:

>> whos
Name Size Bytes Class
delta 1x1 132 sym object
pi 1x1 128 sym object
sgrt2 1x1 138 sym object
X 1x1 126 sym object
Yy 1x1 126 sym object

Grand total is 20 elements using 650 bytes
boddmgrneo asdmbsbymads

1503250’)Q'36)0 (33E030 '3306;:)3&) 253m30g9bmom BoB&mw‘gﬁ) 3&80015&15'3(}\036530 OMIMO(3 (3302900
b gbi00l SO MdbBo. sGomdgdognmo  m3g@sBmegdo + - * o MATLAB-ol
396J;309003  3sdmogabgds  ogogg  Fabol  dobgogom, Gmamei gL brgdmes  Gobzomo
33303m9bols [s6dmgdolisls. dsgsemomse:

>> syms s t A
>> F = "2 + 4*s + 5

f =

SN2+4*s+5

> g =s + 2
g:

S+2

>> h = f*g

h =
(s"2+4*s+5)*(s+2)
>> z= exp(-s*t)

Z =

exp(-s*t)

>> y = A*exp(-s*t)
y:

A*exp(-s*t)

306139em (0330 go3boegdm (33eegdl T, S o A, 399093 37900 Loddbmergem asdmbsbyemadgdls

sbagmo  (33masgdols f, g, h s Y dgloddbgmase. sbmsedgddbomo  (33emergdoz Loddmeny@o
(3389005 s 8Os Moibzomo gsdmlsbmmgdgdo.

bsbegsoeme MATLAB-30 o 303890l dognmomngdm, X o0l Esdmrgoegdgmo (330l
Lobgemo, 353083 gl o6 603bsgl  0dsl, Gmd Lbzs Loddmener o6 gazadmos  gsdmzoyggbmm

8307300098900 (3330l s sb0dbsgsE.  sdM3009dgmo  (33emsEols  dmladgdbse  Loddmenn®
203 bsbgemgdsdo MATLAB —b goshbos ggqbdisos findsym

findsym(S) S Loddergrn®  asdmbobymagdsdo 6 dsBGoisdo  3mmemmdls
boddmeed (33m0090L s g35dmmg3ls dsm, Amam®3 boddmend
bB®odmbl, 6360l dobgregzom  ©smsggdnmls s ddodggdom
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h3gbls Fgdmbggzsdo :

>> Findsym(f)

ans
S

>> findsym(z)

ans

A, s, t

asdmgmagoemls. oy S & 903936 3639600 Loddmen®
(3s0b, 333dmg3l (39609 b0 dmbl.

'386306@00 d93Jdbson Boabmg\'\wﬂﬁ)o dseo(3s:

>>

n

3;

>> syms X
>> B = x.M((0:n)**(0:=n))

B =

[1.
[1.

11
Xs

[1, x~2,
[1, x"3,

1,
X2,
XN,
X6,

1]
x"3]
X"6]
x"N9]

Amgme dg3sbermmemo  Loddmen®o 3eeobmdols semggd@rmmo geGesddbgdo:

expand(S)

factor(S)
simplify(S)

[n,d]=numden(S)

subs(S,old,new)

333500090

>>
>>
>>
>>

C =

Loddmeog®  asdmbsbymagdsdo S Fgalitrnemgdls  semggdrmem
309439009890, T390k dbgegl 93090 s Fedmgzowanbls
3remobmdols Lsboon.

S 3em0bmdl ©sBemols 3sdrszemgdac.

25835080390 Loddme e asdmbsbagemgdsls S

3m33(399L  o(30mbsend  Fomopse ©sdmomo S Loddmern®o
333 bsbyemadols dMo3bggmls s 360d3bgmls

S Loddmene  3sdmbsbrmgdedo (3300l old 93300l

(332 50M new

sN4 -3*sN3 -s +2;
4*sN3 -2*sN2 +5*s -16;
A+ B

SN+SN3+4*5-14-2*s"2
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o Lgoms@rgmo gsdGsgemgds

>> syms s

>> A = s -3*s"3 -s +2;
>> C = 3*A

C =

3*s"N4-9*s"3-3*s+6

o a3dM3mgds

>> syms s

>> A = s+2;

>> B = s+3;

>> C = A*B

C =

(s+2)*(s+3)

>> C = expand(C)
C =

sN2+5*s+6

° 803603;*\03on 8w

>> syms s

>> D = s™2 + 6*s + 9;

>> D = factor(D)

D =

(s+t3)"2

>> P = g3 - 2*s"2 -3*s + 10;
>> P = factor(P)

P =

(s+2)*(s"2-4*s+5)
® 35960360 3369m05690s

asbgoboenemm aoamlsob'z]gmabo

1/6 1/2 2/3
- +

H(s) =-
() s+3 s+1 S

bsdo dglbsoggdols 3e900360d369m0sbgds dglsdmgdgemas Fgdwgabsodsc:

>> syms s

>> H = -(1/6)/(s+3) -(1/2)/(s+1l) +(2/3)/s;
>> [N,D] = numden(H)

N =

s+2

D =

(s+t3)*(stl)*s

>> D = expand(D)

D =

SN3+4*sN2+3*s

30Bsboady Bgazodmos H(S) sby Gotdmzgsaobmom:
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S+2

H(s)=—— %
(s) s® +4s% +3s

* 330030

30J350 33593b Loddmerg@o asdmbsbrmgds:

s® +25% +55+10
s’ +5

H(s) =

MATLAB 350350 933935 93 Fommsel s Lsdmememme dmgzqdl:

>> syms s
>> H = (s"3 +2*s”2 +5*s +10)/(s"™2 + 5);

>> H = simplify(H)
H =
s+2

oy Gomsols 3603369t ©s3dmom dsd@sgmmadse, 365bs3m, GeBmd dogomgm S+2.
>> factor(s”™"3 +2*s"2 +5*s +10)

ans =
(st2)*(s"2+5)

Babmgmmmg 633;]6360:

H(s) = s + 2

* (330l ﬁoﬁocmg:»abo bbgs (33ems@om

33630b0mmn  3ME0bmdms 03bsgsEMS:

s+3
H(S)=—5—"—
(®) s?+65+8
3363LsB@3Omm dgmery gedmlsebymgds
G(S) = H (S) |s:s+2

Rogabs(33mmmm S (33ms®0 s+2 —oo0 MATLAB bsdnamgdoo:

>> syms S

>> H = (s+3)/(s"2 +6*s + 8);
>> G = subs(H,s,s+2)

G =

(st5)/((s+2)"N2+6*s+20)
>> G = collect(G)

G =
(s+5)/(s"2+10*s+24)

3030@3600 aoambob*z]gma&olsi

11
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S+5
H(S)=————
®) s? +10s+24
a3630bomme gz Msdegbody babsdgadmem d6dsbgds:
sym2poly(P) P Loddmma®o 3memobmdobsmgols g3edemgsls 394@mel, Gemdeols
90939689008 33 3memabemdols  3mga0(3096@)gd0
poly2sym(p) P 39JB0Oby ©sghwbmdom, GM@Imol gemgdgbdadai 3meobmdols

37998030963)90L  §363mewgqbls, a3sdmasgl Bglsdsdals Loddeenn®
3ere00bmdls. (33emsb dosboggdls Labgemls X.

dsgamomse gsbgobommn  dmeobmdo:
A(s) =s® +4s° —7s-10

[1 4 -7 -10];
poly2sym(a,s)

\
\
o))
Tl

SN3+4*sN2-7*s-10

3eremobemdolsmgol:
B(s) =4s® -2s* +55-16

>> syms s

>> B = 4*s”"3 -2*s"2 +5*s -16;

>> b = sym2poly(B)

b =

4 -2 5 -16
boddmeméo gsdmbsebanmgdols gm@ds
MATLAB-\ Jg099500 80;:)36"3@0 6oambob'3@36o gmggemmgols o6 3o8m33o315 hggbmgols
Lolbm@ggemo  geddom, dsgsmomse, 39633900 m3g@s09d0l  dglirgmagdols d9dwgy  dgegase
d9lsdemms dogommo 1/a*Db, Qs 3G b/a.
B0ambmdgdtonmo Loddmmamo gedmbsbrmmgds
asbgoboememm  dgdgao 6&6&6363602

>> syms theta phi
>> A = sin(theta + phi)

A =
sin(theta+phi)
>> A = expand(A)
A =

sin(theta)*cos(phi)+cos(theta)*sin(phi)
>> B = cos(2*theta)

B =

cos(2*theta)
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>> B = expand(B)

B =

2*cos(theta)"2-1

>> C = 6*((sin(theta))”"2 + (cos(theta))"2)
C =

6*sin(theta)”2+6*cos(theta)”2

>> C = expand(C)

C =

6*sin(theta)”2+6*cos(theta)”2

Oeameyy  gbsbgn MATLAB —3s  “jomgee 203Om3zs 0330”7 Aoge  BMogmbmdgd®onem
2560543698L, 038 dmemer Lrmmose dseB0g0 3eGEsgdbol Fglicrmegds “ao'ggoﬁ)Qo”Z

C =6(sin?(#) + cos*(#)) =6
Loddmeéo gsdmlbebnmgdals Goibgomo 360d3b6gmmdols gedmmgms ©s aMsgagol s390s

bdomse  azdomegds  (33meols  dmzgdnmo  d60d3bgmmdobsmgols  asdmgmgsemme  Loddmern®o
603(*)15013'3@3601) 350'336357\00)&). sdolsmgols hogoﬁmo 3600, subs 1)0860)@'36 (333l
dogsbogmo Maizbzomo 350'833@(*)60:

>> E = s”"3 -14*s"2 +65*s -100;
>> F = subs(E,s,7.1)
F =

13.6710

F 30608306 m9dnmmdls Goibzom 360336qmmdsls double array
dgbsdemgdgmos boddmern®o gsdmbebrmgdol dobgogom sgsgmm gMsgao:

ezplot(f) 00390L f(X) atemgosl, bowsi T Loddermgmo 3s3cmbobmemmgdss
s (oedmseagbls dsmgdsBogn® gsdmlsbyemadsls, GmIgmocs
9903936 FbmmmE 900 (330, godzsm X. domomgbols
35693y (default) X 860836gmmdsms strgs [-2m, 2m]

ezplot(f,xmin,xmax) 33390L adsgo3l X domomgdnm 3609369mmdsms dobgwgom

LsognlBdsiome asbgobommmen ogub]z0s:
A(s) =s®+4s* —7s-10
06963030 [-1, 3]:
syms s
a=1[14 -7 -10];
A = poly2sym(a,s)
ezplot(A,-1,3), ylabel(CA(s)?)

dg9350 domgdamo a@sg030 bshzgbgdos bsb. 13.1.



14 boddmeon®o bg@ogmbo, Loddmerg@o gsdmbsbsbols sdndsggds 13

s7+4 527 5-10
35 T T T T T T T

bob. 12.1  ezplot 3600l LeBmsmmgdon 33980 3meobmdol gesego 30

d0sJ3090  gndEmgds,  Omd  3sdmbsbrmgds,  Gmdmols  dobgogomsy  sogm  3Msg3030

338y nese  asbmsglegds aMsgz030l Lsmsm@se, bomm X mgadl s3Bmdsdndse Fagfgdgds
3ol Lebgmo (33 dgdmbzggzsedo S)

Loddmeéo smmagddrgmo s BEsbl39babd)nme 3sbBmmgdgdo

MATLAB —ol Lo dgsemgdoon  dglsdmgdgmos  sdmgblbse  Loddmem@o  smagddrgmo  sb
B3390 nmo  asbBmmgdgdo s gsbBmmgdsms  Lob@Bgdgdo.  B@sbl39begbdmmo  oligm
230Bmmgdsls gfmegds, GmIgmoi Bgoigegl Mmdgmody B@sbl(396egbdme i3ub0sb: COS X, e* o6
In x. sdolsmgols gsdmoygbads egmbcsos solve. 36 ligdmdl 83 396300l M83g60dg Rm®ds, Rzqb

a9b6g0bomsgmn Jgdwgals:

solve(El, E2, E3,. . .,EN)
solve(El1, E2, E3,. . .,EN, varl, var2, . . ., var3)
bagos(s El, E2, E3,. . ., boddmen®  gsdmbsbymgdsms babgmgdos, begom varl, var?, . . .,

var3 dglsdedolo (33emsgd0. domgdgeo $dmbsblbgdo Foddmawaqbl asdmbsbymadols gggliggol. gl
360l boddmen®o gsdmbabamagdsbo  (33emsegdolsmzgols Bgdwgao 306mdgéom E1=0, E2=0, E3=0,.
. .,EN=0.

9600 3sbBmmgdolemgols  gomo  (33msom  33dmbsblbo  0dbgds  gPmo  Loddmen®o  Lowogy.
333.8m0msc:
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>> syms s

>> E = s+2;

>> s = solve(E)
S =

-2

dogomgm  Loddmegmo Loy 5=-2. 0dolsmgol, Gmd ogo  Gozbzom  asdmlsbyemadse
356053436300 Lsgodms 303dsroma  56rdsbgdsls double:

double(S) Loddmeog® asdmbsbymadsl S astsdbols Goisbzom
Lowoeage (double prescision floating point number). S +&

9605 90303091 Loddmera® (33mswbs.
>> snum=double(s)
snum =
-2
33630b0ommo  Loddemmeo 333 bsbagmads — 3gmty bsdobbol Smmobmdo:

>> syms S
>> D = s”2 +6*s +9;
>> s = solve(D)

s =
[ -3]
[ -3]

33350000 BM0ambedg®Eoosb:

>> syms theta x z

>> E = z*cos(theta) - Xx;
>> theta = solve(E, theta)
theta =

acos(x/z)

230Bmmgdqdl, Gmdmadois 9039396 3gMomEnem  g76d3090L, Fgbsdmmems  3Jmbegm  gqlizgdols
330l Bmggmo  MsmEgbmds. slgm 3gdmbggzsdo solve 396300 Bgdmoggsdgemads iglggdom 0-
ols 801‘)@(*)6@0’)6&80. dsgamomse 3dmzgblibsm 306(?)(*);*\032)&

2cos(26) —sin(@) =0

>> E = cos(2*theta)-sin(theta);
>> solve(E)

ans =

[ -1/72*pi]

[ 1/76*pi]

[ 5/6*pi]

MATLAB —3o 'Bahodg)gbagmoo hoabmgraﬁ)o 6030)15015‘3@;]6015 06(55365)360 s Qo%aﬁaseoﬁ)gbo.
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diff(E) sbqbls E Loddmemamo godmlsbamadols ogq®gbizomgdsl od
(3303000, G3geog 3960Lsbgegds gmbdiooo findsym(E)

diff(E,v) sbgbl E Loddmeon@o gsdmbsbrmgdol ©ogg@gb3069dsl Vv
(330N

diff(E,n) sbgbls E Loddmemamo godemlsbaemgdols oogg®gbizocmgdsl N-
%96(N Bogmo @segdomo Gozb3z0s)

diff(S,v,n) sbgbls E Loddmemamo gsdmbsbrmadols ©ogg®gbizomgdsl V

(30300 N-%96(N dogeo ©segdomo Gozbzos)
3ere00bmdols Foedmgdamols gsdmmges:

>> syms s n

>> p = sN"3 + 4*s"2 -7*s -10;
>> d = diff(p)

d =

3*sN2+8*s-7

>> e = diff(p,2)

e =

6*s+8

>> F = diff(p,3)
¥ =

6

>> g = s™n;

>> h = diff(Q)
h =

s™"n*n/s

>> h = simplify(h)
h =

s™M(n-1)*n

336396006 Mmoo b (3000 voﬁamab‘agoi

>> syms X

>> 1 = log(x);

>> dfl = diff(fl)
dfl =

1/x

>> 2 = (cos(x))"2;
>> df2 = diff(f2)
df2 =
-2*cos(xX)*sin(x)
>> 3 = sin(x"2);
>> df3 = diff(f3)
df3 =

2*cos(xX"2)*x

>> df3 = simplify(df3)
df3 =

2*cos(xX"2)*x

>> 4 = cos(2*x);
>> df4 = diff(f4)
df4 =

-2*sin(2*x)
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>> 5 = exp(-(x"2)/2);

>> df5 = diff(f5)
df5 =
-x*exp(-1/2*x"2)

0bga¢gds

int(E)

int(E,v)

int(E,a,b)

int(E,v,a,b)

3erg0bmdol 0b@)ga™gds:

>> syms x nabt
>> Int(xX™n)

ans =
xM(n+1)/(n+1)

339993l Loddmem@o asdmbsbymadols gsbnlsbogmgm
0b@)ga®smls dolo Loddbmmrgmo (330l dobawgom, GmIgmac
2360 Bm3gds 3763000, findsym

E Loddmeando 3sdmbsbrmadol gsbnlsbog@gmo 0bBga®semo
V (3300l dobgogom

E Loddmmndo 3s3mbsbrgmadols 3sblsbomg@mmo obBga®semo
06893500 To [a D], Los @ s D Loddmeamo o6 Gozbgomo
bgoms@gdos

E Loddmmmdo 3s3mbsbrmadol 3sbbsbmg@rmmo obBga®smo V
(3300l dobgwzom 0bB)@zemdo [ab], Lews @ ©s b
boddeenndo 6 Goigbgzomo gsmasdgdos

>> INt(XN3 +4*x"2 + 7*x + 10)

ans =

1/4%xXN4+4/3*XN3+7/2*XxN2+10*X

>> int(x,1,t)
ans =
1/72*t"2-1/2

>> int(x"3,a,b)
ans =
1/4*b™N-1/4*a™4

3363960968 o ggnbi300l 0bB)gacgds:

>> syms X

>> Int(1/x)

ans =

log(x)

>> int(cos(x))
ans =

sin(x)

>> int(1/(1+x"2))
ans =

atan(x)

>> int(exp(-x"2))
ans =

1/72*pinN(1/2)*erf(x)
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erf(x) Fo®3maoagbl  (30mdoemgdol 0bBgacsenls (Error function) gmggmo X-mgol, bswsy X —
6sd30m0 Go3b308, beamer erf(x) 99dmgabsomoe 3s60lsdmggds:

_ 2 e
muyﬁﬂem

FOx5030 semgqdés
3BO0(3m0o Mm39M3(30900L 3sbbmG(309emgds dglsdmgdgmos Loddmen®o dsGazgdologals.

> A = sym([2,1; 4,3]D)

sym([1 30; -152; 121D

sbg3g 'Babodwabagoo MATLAB boaﬂoggbom 3dmgblbso  (Gez03 606(%0)@36000‘) 150360)@'3(4)0
Lobi@d)gds:

>> syms X
>> A = sym([3 2 -1; -1 3 2; 1 -1 -1])
A =
3 2, -1]
1, 3, 2]
1, -1, -1]
> b = sym([10; 5; -1D)

1

1
= A\b

1
1

10
5]
-1
> X

L
[ -
L
>
b
L
L
L
>
X
L
L
L

-2
5]
-6
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doegdnmo  gogao  Fgesdgm  0go3g  LobBgdol  Goibzom  s3mbsblbgdls, Goms s dnbogm
3sbybol Lobfm@gdo. mdis, asb@mmgdsms LolBgdol sdmbLbolsl s0dy 356183930l dodsero,
930609000 130638)9bmds 433hb0s Loddemgrned doamdsl. asbzobommn asbBmmagdsms Lolidgds:

2%, —3X, =3
5%, +¢x, =19

3dmgblbsm X1 s X2 Gmaméig C 35633980l 3 z0s:

>> syms C

>> A = sym([2 -3; 5 c]);
>> b = sym([3; 191);

>> x = A\b

X =
[ 3*(19+c)/(2*c+15)]
[ 23/(2*c+15)]

31dsbgdols subs bsdgoemgboo  dgaz0dmos  303mzgmm  gsbBmemgdsms  LobBgdols  sdmbsblibgdo C
bbgseslbgs d60d3bgemmdsmsmgols:

oy c=1, dogomgdom:
x1=subs(x,1)
X1l =

3.5294
1.3529

/ (30e0beAnmo gm@dol HybgMgmsaol obsobo dobodsemn@o sbsbsdgom

qbes  sogml  (30mobeGmo  gm@dol  Ggbgagnso  bsbgzesdlggmml  gm®dol  gsesb@gon
d0b0dsen@o  sbsbsxom, o (36mdogmos, GMd  (3omobGnmo  Bgrsdomol  3mblBGndios
©odls $300/32% bome  3839607mo Bgosdomols - $400/32 boagme  O9bg@3m9600l  Bggzeemdss
5%10° . (99031900 Mbes s03ml dgBmbols Bgosdomby, GMImols gsbo Fbgrggmmdsdo s

mbs 0dbsls 80Q363Q0.
1. 3dm(360L  slsds

bob. 12.2 —bg de3gdnemos  M9bgegnecol bmdgdo. asbzlsbmadmm  (30mabe®mol Moo ©s
bodsmeng olg, Gmd GgBgMgmsaol sbsggdse dobodsgrndo msbbs @sobstyml
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bob. 12.2  égbgegmeciols 3mblgendisos

2. INPUT/OUTPUT spfgts

(36mdoemas, MM (30m0beGmmo Bgosdomols s393s @odLs $300/3% boremer (3539600 Bgesdamols
- $400/3% b sbsggdo  O9bggnecls  Bggsmdss 5%10° . gbes  asb3bsbrgOmm
(oe0bEcols  Gsonlbo s Lodsmmyg olg, Gmd  Ogbgagyeol 839359  dobodsen o ;msbbs
sobsexml.

3. bobgmesbgme sdmblbs

(30e0beeols amg'z]ggmbot Vc =7z-R*-H
2
bsbggemleggmmls 3(')8'2];:'0')602 Vh = §7Z" R3

(30060l Bgrsdomol gsdmnmdo: A =27r-R-H
6559356 b390mb  Bgosdodols gesdmmda: A = 27 -R?
g0 M9bgM3 79600l dmsmenmdss SOOQ = 500 33, d9330dm0s ©33(9Omm  a8dcmbsbryemads:

500=7r-R2-H+§7z-R3

3Jgeosb
B 500 2R

R 3

333mglsbmo Hgbge39s60l Qoéabﬁgabo AOM3MO3 (30e0be®ol Lodspmols ©s Gseombols

b cs00:
C=300-A +400-A, 2300-(2-7ZR-H)+400(2-7Z'-R2)

OO0 30600, 9793980 Fbiool FoMdmgdnmo byl B memeEgds gubieol dobodydalss
s 33lodndols FgmBomgddo. 3oMzggm ogdo dmsmemdols gedmbsmgmagmo asb@memgdowsb
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303m3m0 H Omamé R-ob gg7bd0s. 990mg3 339§ s¢3mma C%OGdGOJ R-0m, gs3admmmon

doegdnmo asdmbsbamagds 0-\ s 303m3mm a3bBmmgdol gggliggdo. sy godmgom Gseorlols

360336900mbsl, Gmdgmoz B99Lsdsdgds d0b0dse® MmoMgdnmadsl, beamm Gspomlols

badnemgdoo gsdmzgomgmon Lodsmemol bsmsbsem 360d3bgmmdsls(s.

4. MATLAB s3cmbl6s

syms R H

V =

H = solve(V,H);
H =

C =

dCdR = diff(C,R):

pi*R"2*H + (2/3)*pi1*R™M"3 -500; % Equation for volume

% Solve volume for height H

-2/3*(pi*R"3-750)/pi/R"2;
300*(2*pi*R*H) + 400*(2*pi % Equation for cost

PSS

» Derivative of cost wrt R

dCdR =400/R"N2*(pi*R"3-750)+400*pi*R;
Rmins = solve(dCdR,R); % Solve dC/dR for R: Rmin
Rmins = double(Rmins);

Rmin
Hmin
Cmin

Rmins(1);

5. 3997350,

double(subs(H,R,Rmin));
double(subs(C,{R,H},{Rmin,Hmin}));

3633 asdmomgmol M9bBgMgmecol sbsggdee Lasgode dobodsern@® ©sbsbstrxls s Gswomlols

s Lodseols Lsosbswm 360'3363;:)0163615.

Rmin
4.
n

I o Il

Hmi

2372510921348

3.28248340614232

Cmin =

9.139421678069333e+004

36dsbgdgdo s agnbz0go0

char(x)

[n,d]=numden(S)
bin2dec(b)
blancs(n)
c=bitand(a,b)

c=bitcmp(a,N)

c=bitor(a,b)
c=bitshift(a,N)

X 3sLogls, GmImols gemgdgbdgdaig dmgmo sgdomo Gozbzgdas
s (omdmawyabl Loddmmmms dglsdsdols 3megdl, gsmesddbols
bodderemms bgeogmbse.

333399 G30mbserm® Forswse ©sdmomo S Loddmengmo
333 bsbyemadols do3bggmls ©s d60d3bgemls

3begbls mdmdomo Moibgzols - b 0690393009068 s
335993l FgLsdsdol somdom Go(3bgl

238993l bgeodmbl , Gmdgmo 8903l N Loddmermls
bs3gemse N (39609 3mBoczosb.

dogymeo and o6& 3633968l dmer0ls

a somdomo dogmo Gobzol N 30B0s6 m&mdoon
§o®3mEaq6s80 Fg33em0l 0 1-0m, boewer 1 0-000 s demaz3odls
dgbsdedols smmdom Gosbzl

dodyneo Or a s b 36133968l dmeols

30233998 dogem smmodon Mo3bzgL, O™dgmo FsGdmseagbls a
03630 O™30mo [s@dmwgabol N do@oo §sbs33egdols
dgegals. oy N >0, 9L ™3963(308 030395, (3 3338300 9ds 2N,
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deblank(s)
dec2bin(d)
dec2hex(d)

diff(E)

diff(E,n)
diff(E,v)
diff(S,v,n)

double(S)

eval(s)

eval(sl,s2)

expand(S)

ezplot(f)

ezplot(f,xmin,xmax)

factor(S)

findstr(s1,s2)

findsym(S)

hex2dec(h)

int(E)

int(E,a,b)

oy N < 0, - 030399, G183 3oYMgS 2N-‘63

oy bgeogmbo dmememgogds 3sbdgmegdseo (3300900
3boggoom, gl 36dsbgds 3933931 sl 3oMzgemogyg Loddmenmdey
235993l d m6mdon [ o03meyabsl Odmgme bBGodmbl. d
Mbes 0gml sGmMsMymxomo dngmo Moibzo.

235993l d 09431398 ™d00 [s63mEagbsls Gmam® bgoJmbl.
d “bs ogml sGs3Gygmaz0mo dngmo Goibzo.

sbgbl E Loddmemado gsdmbsbrnmgdols oggmgbzomgdsl od

(3@seols dmbgegzom, G™MAga gesbolsbma@gds ggrbdioom
findsym(E)

sbgbls E Loddmemamo godemlbsbamgdols oogg®gbizomgdsl N-
%96(N Bogmo @segdomo Gozb3z0s)

sbgbls E Loddmemgmo gsdmbsbamadols ©ogqg®gbizomgdsl V
(3msols dobgogom

sbgbls E Loddmemgmo gsdmbsbrmadols ©ogg@gbizomgdsl V
3ol dobgozom N-xg@(N dmgemo swgdomo Gozbzos)
Loddergo e asdmbsbnemgdsl S 3o6sgd6als Gogzbzom
Loeoweqe (double prescision floating point number). S s6
9bes 9039309 Lodderen® (33emselbs.

2973390L S LgEodebl Gmgemt MATLAB gsdmlsbmmqdsls
36 361dsbgdsbs.

Lo B7omadsls 0dmgss Bgiemds sgzogodmo. asmdzgel sl
d9lsdsdols 36186938l s g39dmasl Faeaqls, oy dAdsbgds
FodsBgdom Fgbergmes, beowmm oy 660dsbgdol dglicrgemgds
F930m35 0demy3s, d398ls S2 — F9bsdadols 361ds69dsLs.
Loddergr e asdmbsbnemgdsdo S gslitrmeogdls seogqdrmen
30439009090, 936981 Abasgl 93090l s Faedmazoeanbls
3erem0obemdols Lsboo.

00390L F(X) atenosl, bowsig T Loddmmemo asdmbsbrmgdss
s (odmseaqbl dsmgdsogn® gsdmbsbamagdsls, Gemdgmaocs
9903936 FbmmmE 900 (33esel, 30zsm X. docmomgdols
30693y (default) X 860336gmmdsms ogs [-2m, 2]

33390L adsxg03l X domomgdmm obB)ggsem o

S 3ere00bmdl ©s3eols dsddsgemgdsc.
3(*)'3;*\0(")615 960 bEeodmbl dgm@ols dogboo

Loddmenne asdmlsbamgdsdo 36 dsBo(3080 S Serpmemdls
boddmened (33mseegdl ©s a38dmg3ls desm, Gmam®i Loddmenn@
bB®odmbls, s68560L dobgogom ©semsgqdnemls s ddadggdom
asdmgogoml. o S 8@ Fgo303L sO(3960 Loddmenn®
(3sob, 333dmg3l (39609 L0 mbl.

sbegbl mAmbdomo Goizbzol h 069369806905 ©s a35dm93ls
d9lsdedols smemdoo Gosbgl

2359m93l  Loddmen®o asdmbsbymagdols gsbmbsbogmgem
0b@ga@sels dolo Loddmmgdo (33esrols dobgogom, Gemdgma
3060LsBE3M93s 36000 findsym

E Loddmegmo asdmbsbamadols asblsbma@rmmo ob@ga®semo
0689630 Bo [a D], Lewsg @ ©s D LodBemendo 6 Gozbgomo
bgomstgdos
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int(E,v)

int(E,v,a,b)

int2str(x)

ischar(s)

isletter(s)

isspace(s)

numa2str(x)

poly2sym(p)

simplify(S)

str2num(s)

subs(S,old,new)

sym2poly(P)

E 1)0860);:)*3(4)0 3&30’)15015‘3;336013 3309 bsbmgdgmo 0bBgadsmo

V (330800l dobgogom
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